aig 54, Rl 26U B 3
RyA-AL 20d €25 gutiRat-L
20,

L vl B2 b Weries Rl B
Nl 635 EUIRAML U321l ASELT 200,000 & HE| Guah::v-[lm id
aiouz (B3 T 80,000 B@AeID 48 (il 21 SR uRdiAl) AR vl 6. -

{ L chizh @) | EraB @

1L | 12000000 4,00,000
2 I 13,20,000 | 3,60,000
3 4,00,000 2,80,000 |
4 4,80,000 200,000 |
5 5,60,000 1,60,000

el et el Al gl Gy 3 B 2 5ARUAL R 50% B. EIHR-A AL Sl
wsdz 15% B 1A exviiad-B Al 10% 8. Ay adaiiA Het 2 AgsRsd sl weld-Al

GuallaL 5314 58 ExviiRe 2l Rell A A QA A2 AELS AL
315 3Rl adairt Het WRea A vl 8 : |

1009 | 0.826 | 0.751 | 0.683 | 0.620
5o | 0.870 | 0.756 | 0.658 | 0.572 | 0497
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(o ¥R R A srd, Mvsz-X o4 Mivse-Y. el s sxvirall NAEITLE

ML B AL 12 AS1Q 2iesi T 340,000 2 T 330,000 B. v A 62 8% ©-

AN AL RS U 24 A-fl 2lssuctl s (A YA 8

et —i———”"’l/ﬂ‘
' aqssAcll AAHSE

RASS UALS (T) | AlssAUcll uHsAL | A5S Ul ()
1 1,80,000 0.8 1,80,000 2% |
2 ©2,00,000 07 | 1,80,000 0 08
3 2,00,000 0.5 ©2,00,0000 0, 10 |

ugall, oflov 24 1o QL 1A 8%-AL €2 1 3R adE e MREN 2454 0.926,

0.857 %41 0.794 B. 2 W9 ,
(©) Pl qat 10 R 35-11Ed 3\ i . ' 10 [
(@) % RGPSl 28t [Qeudt- s 0 WRE 2 HYol 8 10

Qo1 Rewir (3 | Rewrei® |  Qews )

| o

Tawa "~ 19,00,000 85,00,000

1,00,00,000

5L A5 1,00,000 [ . 2,50,000 5,00,000

Iilslgl , . 10,00,000 |  31,25,000 | 40,00,000

) sl Azl AL AR 53l [ACIPIAY ASISRE 6 7
(i) SR YR AULARAL ER-AL AR 5L 1AL A AZIERS & ©

(iii) Gurl ol Hizll, 56 Ad URLAHA BV 2L [HEA S & 2

() ayaotgfleil Rauold we A2d 2 ? A AUCER] 3R USRL Anondl 10

i



D PUPIVS TN Rewl 8. Rewi-A 23 B, [Qewor-

A ML XAl Q101 200 elgl
1,00,000 AsA A4 UL B ¥ WU WA Biesdl BUR 20% dndr Q.
[Rewwt- A A2 yoverd) 3R MM A S

20
[l " I
RAR Yol 2,50,000
ul'étct YSelR T 1 A5 g
WU Masdl

| o i)

EUER +1,00,000 \

RS 2,50,000 0\
LA d By 3] sy

S AMAHL A1 8. [Qowot-A,
PLB AsHElS T 2 AN Yseiu JUR B, .
B XAL 1A 75,000 A5HA, Bedle 53] o 8.

MR, HBRaL MulEL B 24N ML= X A Wist 75,00
8. 42 QewLB 1, mm-xi 25,00
CLIL X AsHELS T 4 QW A=y

B=Ad Alefl oy 451 2l Rsey W2 Aes AN B,

AsUA-II

5. RN [Asey wie 531 (3 A yivy)

(1) dRs andrAle: @

“

10

(a) ARIM R (b) QUENEYEETH] "=~L§'l USeR

() 52-2l5 €3 (@ AN

(2) MR AN UHU g (L AU s8] 53U U2, A58 Uelle WA Aoiy 2.
(a) URX ) g '

3) (el gat 2B A vt Wyl ugR S,
(a) Uy (b) g
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) vt&l?-.rﬁ (b) ﬂsu,tlrﬁ \
() WSR3 (d) Burwiall qugl -+

( 7) Hél b1l Aol 9 _ AR S,

() efgsi (b) @il
() adHl-
(8) 2AldRs gl 3 é‘“l ﬁ Sl 8.
@ . \
(9) s8uaRin 18 Uells] sila[l ASIQL SIAMT 419 8 o ?

(@) 4%

1 ¥ (b)  UAHNA Yy
Y UHY (d) 26UdRs qndz-l €3
0) ¢ LRl €3 A v ARt ANezAL £ 5l Gl Q?{ 37
a) wy (b) g

(11) 2uetris D v MGl W U B, "

() Yy . (b) g
(12) roerlesd Ruol wgl A S é{t;t B¢

() ClE2RUAUGR (b) - su-l m&qlg wgld -
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Seat No. : .

SD-117
September-2020
M.Com., Sem.-IV

510 EE/EA : Management Accounting-II

Time : 2 Hours] [Max. Marks : 50

&5
Instructions: (1)  All questions in Sectlpu-I.carry. equal marks. \\
(2) Attempt any two questions in Section-I.
(3) Question No' 5 in'Sqé_t'ion-II 1s compulsory., ‘0
SECTION-I _ .
. The management of Khushi Ltd. is consi 1 proposal out of two
proposals which requires initial inve ' 00 ach and scrap value of

< 80,000 each at the end of ‘e ated profit (betore depreciation and
tax) 1s as under : 20

ompany uses straight line€ method of depréciation and tax rate 1s 50%. The cost of
capital of proposal-A is 15% and proposal-B is 10%.

You are fcqﬁired to guide
m'anagement

about which pmj.ect; should be accepted using net present value and
profitability index method.

The present value factor of ? I are as follows :




. : ’ iy - H
(A) JesikaLtd. is COHSldenng one 'of two proposals, Project X and Project Y, whic

require cash outlays of ¥ 3,40,000 and ¥ 3,30,000 respectively. The risk free rate
is 8%. The expected net cash flows'and their certainly equivalents (C.E. ) are as

follows : 10

~ Project-X Proj CCt’Y
Year End

Cash Flow () | C.E. | Cash Flow (?)

20,000 1,80,000 m .

180000 1 080"

2,00,000 0.5

Present value factors of ¥ 1 discounted at 8% at;_'the-end of year 1,2 and 3 are

0.926, 0.857 and 0.794 respectively. 4 '

(B) Write a note on decisionstree'analysisi 10

(A) - The operéting ififorfation of three divisions of K Ltd. is as follows . 10

\ Particaldrs | Division-A () | Division-B () l Division-C (3)

l

\szBs @F | 19.00,000 85.00.000 |  1,00,00,000

Operating profit 1,00,000 - 2,50,000 5,00,000

Investment 10,00,000 |  31,25,000 40,00,000
_ . B |

e — —————

(i)  Using operating profit ratio, which division is most profitable ?
(i) Using return on investment, which i1s most profitable division ?

(iii) From the above two, which measure is better indicator of overall

performance ?

(B) What is reSpOHSibilit}’ accounting ? Explain types of responsibility centres.



4, A company has two Divisions, Division A & B. Division A has a budget pf _‘sefll'i_ng;
1,00,000 units of a component X to fetch a return of 20% on average assets employed.

The following infonpatli_gn of Division-A.is: given : 20

Fixed overheads - ""*2,50,000

Variable cost

X ‘\
Debtors | 1,00,000 \

However, there is constraint in marketing and only

component X can be

1
directly sold to market at ﬁmposed price. Division B is advised to buy

25,000 units of component ‘Div'sin ricéof ¥ 4 per unit but Division-B
is prepared to pay < 2 per uni _
Division A has ano hand, which is to produce only 75,000 units of

component X. ' olding of assets 'b_y % 1,00,000 and fixed overheaﬂs.by

T 12,5 u'‘are reduired to advise most profitable course of action for ﬁivision A.

SECTION-II |
hodse the correct option (aﬁy_ Hﬁ've) | 10
(1) IRRi1s
(a) Hurdle rate (b) WACC (c) Cut-offrate  (d) 'All of these

(2) Pay-back period has no relation with cash flow to determine time period.
(a) True (b) False

(3) Decision tree approach is method of risk measurement.

a) True (b) False
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& Lower the diécount';ate, ____ pre-seht' value
(a) higher . B b(b) lower (c) No relation -

(5) ’[he basic purpose of responsibility accounting systém _is

(a) Motivation - (b) ﬁuﬁgeting

(c) Authority (d) Vaﬁénce analysis

(6) Division under transfer pricing system is treated as

(al profit centre (b) investmeﬁt_ centre
(c) cost centre (d) None of above
(7. Totake capital budgeting decision is decisi

(@ past (b) future

(8) Internal rate of return is always

¢

@) True |
(9) Under which me

(a) Net

(

SC

of each year is re-invested ?

(b) Terminal value

back period (d) Internal rate of return

d discount rate is higher than risk free discount rate.

True . | (b) False

(
(11) Co-efficient of variation is an absolute measure for measuring risk.
(a). True . (b) False '
(12) Responsibility accauntiﬁg is a part of
| (ﬁ) ' Extemal f(eporting System (b) Corporate Reporting'System

(c) Internal Reporting System (d) Global Reporting System -




